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Note that bold letters are vectors
Problem 1 (8 points)
A disk of radius “a” with surface charge density of ps C/m?. Calculate:
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/ Problem 2: (12 points)
A o
| solid good conductor sphere of radius “a” has a positive net charge Q is

enc
rachlose‘:j by @ conducting spherical shell of inner radius “b” and external
Us ¢’ (¢ > b) has the same center with the solid sphere.

Determine:

A. E and D everywhere.
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B. The potential everywhere.
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Electromagnetics (1): First Exam Solution (0.0h)

I'roblem 1:
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Problem 2:
(a)
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(c)
Atr=a=p, =D, = Q.,
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Atr=b= p, =D, = _Q, C/m?
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Alr=c= p, =D, = 4L,C/m2
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